
Solutions to HW) Problem 3



We wish to stratify M
, (41', 2(413) by topological type and identify each

stratum. Each stratum is determined by its labelled dual graph which

Consists of a connected graph whose vertices vi are labelled by (gi,di) the

genus and the degree of the corresponding component. We need the labelled

graph to satisfy :

· the total degree is 2 : Edi = 2

· the genus is 1 : Aocycles in graph + Egi =

· there are no vertices with (g,d) = (1, 1) (no degree I map of gausl curre to P)

· Stability :

any vertex labelled with 10,07 must have valence > 3.

· Also : a 10
,1) mode cannot have a loop (since the normalization of the

corresponding component is an isomorphism and hence the two points over the mode must go

to distinct points).

Using the above
, one can list all possible graphs . We list them in a table

on the next page along with the dimension of the strata and a pictures of the map

I we draw branchedavers as Comohmain whereas

modes aredepicted -wosaid
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